
ANDREAS MAIER GmbH & Co. HYDRAULISCHE SPANNTECHNIK 159

Technische Änderungen vorbehalten.

Zubehör für Hebelspanner

Aufbaublock

Nr. 6959C-xx-15-01

Ausführung:

Anwendung:

Hinweis:

Bestell-

Nr.

A B ØD F G H K L M N P S Gewicht

325290 2x M4x70, 2x M4x65 39,1 50,0 6,0 4,5 27 21,0 G1/8 29 4 50 25 11,5 18 12,0 2,5 1,0 23,0 6 6 321646 505

324632 2x M5x75, 2x M5x70 44,9 60,0 9,5 5,5 30 25,5 G1/4 32 5 54 30 11,0 22 15,5 3,0 1,0 26,5 6 6 321646 750

324640 2x M6x85, 2x M6x80 53,0 68,5 9,5 7,0 37 30,5 G1/4 42 5 60 30 13,0 28 20,0 5,0 0,0 32,0 6 6 321646 1100

325480 2x M8x95, 2x M8x90 69,0 78,0 7,0 8,5 51 37,5 G1/4 54 5 65 31 15,0 34 27,0 8,0 5,0 41,0 6 6 321646 1685

325316 2x M10x105, 2x M10x110 87,0 92,5 9,0 10,5 64 47,5 G1/4 65 5 75 38 17,5 40 32,5 - - 52,0 6 6 321646 3050

6959C-12-15-01

A

B = Lösen

CAD


